Common Errors

Students are sometimes
confused by examples such
X

as

. They may remem-

il 4
ber that dividing by a non-
zero number is equivalent to
multiplying by its reciprocal
and incorrectly think the
above example is equivalent
10X (% i %) When re-
teaching, point out that if
this rule is used they must
multiply by the reciprocal of
the entire divisor:
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Guided Practice
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Summarizing the Lesson

In this lesson students
learned two methods of sim-
plifying complex fractions.
Ask students which of the
two methods they prefer.

@ Using a Calculator

Point out to students that
they can keep the number of
key presses to a minimum
by using the reciprocal key
when evaluating the expres-
sions in Exercise 27.
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27. Evaluate to three decimal places. A calculator may be helpful.
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(The farther this process is carried out, the closer the results will be to
V2=141421 ... )

as a single simplified fraction.

In Exercises 28-31, express ﬂﬁ’:——ﬂﬁ

(These exercises might be met in calculus.)
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When the numerator or denominator of a complex fraction has powers
Wepative exponents, you should first rewrite the powers using positive

fple 3.

wients. Then simplify the fraction using either of the methods shown in
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